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Pos_Name 1.2
1 Bi5 & 20 20
2 FE) FiE 15 4
3 Bl BE 12 6
4 =5/ —*k 8
4 YN & 15
6 5B I@EH 10 10
6 BF ME
8 BRH Tt 12
9 xH# EF
10 F[E  #—ER
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Pos_Name 1.2
1 AN HBFE
2 tEB #Ez
3 5iF BAX
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Pos_Name 1.2
1 B EX 20 20
2 I BA 12 12
3IEE 15
4 ¥R EN 15 4
5 AifE FsE 8 3
6 £k EH 8
7 g 10 1
8 KLMDIE— 10
9 FH HE 6
9 BmA JEER 6
11 i EF 4
12 % 7R 3
12 F#F Bk
14 RiF  H— 2
14 @A 3
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N2 AP

Pos_Name 1.2 3 4 5 6_17_ 8 &3t HMEE
1 Fy XE 12 15 20 47 47
2 /HE BA 20 20 40 40
3 HAO = 12 15 21 27
3 HE ® 15 12 27 27
N3 95

Pos_Name 12 3 _4 5 6_17_8 &t BHHE:t
1 % 2% 20 20 15 55 55
2 IhE IEt 15 12 12 39 39
3wt &EHA 15 8 23 23
4 FK FhA 4 8 10 22 22
4 mnx 1EHEE 12 6 4 22 22
6 =#w HIL 10 10 20 20
6 KiE MR 20 20 20
8 #aK Al 8 8 8
9 XEIHE B 6 1 1 7
10 ARER ML 6 6 6
A= s 4 4 4
12 A8 =M 3 3 3
13 % 2 2 2
SA1 95

Pos Name_ 12 3 4 5 6_7_ 8 &%t #HME:
1 Bl & 20 20 15 55 55
2 H5E EfE 12 12 10 34 34
3 RAR =F 10 20 30 30
4 it b= 15 4 19 19
5 BF thHEH 10 8 18 18
6 F9E B0 15 15 15
1 £t/ % 12 12 12
8 IRA BEA 8 8 8
8 PIE HEHA 8 8 8
10 #E K&E 6 6 6
10 /M 15 6 6 6



SA2 U35 R
Pos_Name
1R =
2 h¥f A
3 KB #a
4 INE EBE
5 th#f ZE—
6k ER
1T KT #E
8 Rk K&
9 WA IE¥E
10 0B EZ
11 WA f#Ez
12 %
13 ZFH #HKAE

SC1 U35R
Pos_Name

1 BlfE E=i
(1T N2
#E B
B BF
FK IF
AIE =53
FH
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Pos_Name

1 #3 B
2 f'e@A &—
2 BE BA

SC3 U35R
Pos_Name

13RO =R
2 lWH #BX

D AW
Pos_Name

1 &t 22
2 M iE
3 # FnA|
3L M
5 IR #)

AH BX5

1.2 3 _ 4 5 _6_7_

8_aft HMAL

20 20 20 60 60
12 12 8 32 32
15 15 30 30

15 10 25 25
8 12 20 20
4 6 6 16 16
10 3 13 13

10 10 10
8 8 8

6 6 6
3 2 5 5
4 4 4

1 1 1

123 _ 4 5 6_17

8_ait_#Amat

15 15 10 40 40

12 12 8 32 32

20 12 32 32

10 10 6 26 26

20 20 20

20 20 20

15 15 15

8 8 8
12 3 _4_5_6_7_8_ &ft_FAxEst

15 15 30 30

20 20 20

20 20 20

12 3 _4 5 _6_7_8 &it_HBE:
20 15 15 50 50
20 20 40 40

1.2 3 _4 5 6_7_

& EMaR

20 15 35 35
12 12 24 24

20 20 20

20 20 20

15 15 15



